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Firstexercise (7 points)

Pa(gt of correction Note
I-1 Reproduction 0.5
1-2 F’ is symmetricof F with respect to O + figure. 0.75
1-3 f=0F=2x2cm =4cm. 0.75

I-4-a Construction + figure 1.5

I-4-b | Nature : virtual because : object between O and F 1

or Erectw.r.t. the object
or in front of (L).

I-4-c | AB1=2 x 1=2cm. 0.5
-1 Figure. 0.5
-2 A1B1= A;B.. 0.5
11-3 Nature:real. 0.5
Il Because when the object is between O and F, the image is erect and larger than the object. 0.5
Secondexercise (6.5 points)

Part of .

the Q. correction Note
1- Figure : "A" is connected to P and "COM" to B. 0.5
2-a Figure : V is connected to B and COM to C. 1
2-b Upg= 0 V because the ammeter has a negligible resistance. 0.5

According to the law of addition of voltage: Upn = Upg + Ugc + Ucy =0+ Ugc + 0
2-C _ 1.5
Thus Upn —UBC

2-d The voltmeter measuresUgc = Upy >0. Thus the displayed value is positive. 0.5

3-a (D) acts as a resistor since its characteristics is a straight line passing through the origin. 0.5
40 _

3-b R=-==50Q.

3-C R=R; + X thus x=50 — 30=20 Q.

Third exercise (6.5 points)

Part of .

the Q. correction Note
1 T =KXxAl=10x 0.073=0.73N 1.25

2-a W+ T):—O) orw= -T) 0.75

2-b w=T=0.73N. 0.5
3 V=a’=(3x10%)°=2.7x 10° m® 1

4-a = {line of action : vertical 1

Fq,. .
direction : upward

4b |F=w-ws, and Wapp = T° = 0.41 N. Thus F=0.73-0.41=0.32N. 1

4-c 1

F=p.x ViX g thus p._:%xg:1185.18kg/m3.
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